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Instructions: This exami|is in two parts: Part | is to be completed partly at home using the materials
posted on Blackboard far Part |, and you will answer questions abou that work in class below; Part Il is
to be completed entirely in class using your computer.

1.

Part I: At Home

You may not use cell phones, and you may only access mterqet resources you are specifically
directed to use:| You may access your data file for Part | of the exam in Blackboard. You may
access the data files posted to Blackboard for the Exam part FI

Be sure you are using the data file that matches the exam versmn you are given.

It is a violation of the honor code to communicate with other students in or out of the class
during the exam, by any means. Students whose exams sho*v evidence of coordination will be
reported.

Show all work to support your reasoning. Primarily, this can be done in Excel. Deletion of
evidence of your logical process can result in loss of credit. A significant amount of credit goes
toward process,|reasoning and interpretation. |

When rounding, do not over-round. In general, do not reporit dollar amounts beyond the penny.
Means should be rounded to one digit more than the orlgmidata; standard deviations to two
digits more. Do |not report fractions rounded to single digit expressions: % * %, and do not
round decimals or percents to a single digit: 0.57846 ... # 63% or 0.6. Report a minimum of
two digits, up to four, unless otherwise specified in the problem.

If a problem asks for an explanation, state the solution clearly, then interpret or explain in

addition to statihg the solution, not in place of. Explanations without solutions, just as solutions
without explanations, will not be awarded full credit.

This part was completed at home. You can upload the Excel file for Part I to the Part | folder in
Blackboard for use during the Exam period. However, this submissioh will not be graded in this location,

it must be submitted to the “to be graded folder” to receive credit.

Part Il: In Class

Use the work done at home to answer the Part | questions.
Open the file from the in-class portion of the final posted on Blackboard that corresponds to the
version of the exam you have. This is Exam A.
Answer the questions corresponding to the data file, and any additional calculation in Excel
required. Be sure to sign the honor code statement on the ant page.

When you have finished answering questions on the exam, and all your answers have been
recorded on the|paper test for grading, upload both the take home Excel file and the in-class

Excel file to the same in-class Exam folder in Blackboard far grading. Only those files submitted

to the Subm;sswn/To Be-Graded Folder will be graded. (If inidoubt, put all work in one Excel
file.) I

Turn in your paper copy of the exam to your instructor.
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6. Based on your best equation, interpret the slope coefficient/of the size variable in context. (6 points)
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9. Calculate a 95% prediction interval for the rating of a single employ with 3100 square feet (size),
8 rooms, no attached garage and 12 years old. (10 points)
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The following questions refer to problem #3 from Part I:

10. For the data on property taxes by neighborhood, state the null and alternative hypotheses for this
test, along with the test-statistic and P-value. What is the result of the test in context? (10 points)
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11. Are all the assumptions of the ANOVA test satisfied? Explain.
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20. The data file includes data on the proportion of employees for a particular company who exercised
before a health and fitness center|was installed in the office building, and afterwards. The company
wants to determine if installing the fitness center changed the likelihood that employees were to
exercise. Condyct a test of proportions, using the proportion from the “Before” condition as the
null hypothesis for the “After” condition. What can you conclude? (10 points)
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21. The data file contains data on the lifetime hours of batteries. |Calculate a confidence interval for
both sets of batteries. (8 points)
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22. Based on the calculated confidence intervals, what conclusion can you come to about how the
lifetimes of the b gtteries compare? (6 points)
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23. Create a pivot table of Day of the Week vs. Time of Day for a sample of shoppers at a particular
store. Conduct an appropriate test to determine if Time of Day is independent of Day of the

Week. State the rrull and alternative hypothesis, test statistic nd/or P-value, and the
conclusions of the test in context. | (10 points)
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